
A

W115038

W114992 3.0ACS

2.5ACS

T5176CF

W115059

W115060

DETAIL A

HBS0003-008
HWS0010-375
HWS0003-375
HNS0001-375 W115126

ITEM 
NO. PART NUMBER DESCRIPTION S46183CF

1 W115038 PIPE ASSEMBLY, FRONT, 3" 1
2 W114992 PIPE ASSY, 3.0" - 2.5" Y-PIPE 1
3 W115059 PIPE ASSY, 2.5", DS TAIL 1
4 W115060 PIPE ASSY, 2.5", PS TAIL 1
5 3.0ACS CLAMP, 3.0", BAND, STAINLESS STEEL 1
6 2.5ACS CLAMP, 2.5" BAND,  STAINLESS STEEL 2
7 W115126 HANGER ASSY, 1/2" 1
8 HBS0003-008 BOLT, HEX, 3/8-16 X 1.0", GRADE 5 2
9 HWS0010-375 WASHER, FLAT 3/8 SAE (13/16 OD) ZN  2

10 HWS0003-375 WASHER, LOCKING, 3/8, ZN 2
11 HNS0001-375 NUT HEX 3/8" GR5 ZN 2
12 T5176CF TIP, 2.5" IN, 4" OD OUT, CF, 6.5" L 2

2017-2019 VOLKSWAGEN GOLF SPORTWAGEN/ALLTRACK,  
WITH FACTORY THROUGH BUMPER DUAL SPLIT REAR TAILPIPES, 
1.8T, DUAL SPLIT REAR, 3"

September 13, 2023
REV:A

S46183CF


	S46183CF
	Drawing View1
	Detail View A (1 : 7)


